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This paper takes Astrotheology mathematics and puts some of it in terms of linear P

. . aul TE Cusack
algebra. All of physics can be described by two vectors. The dot product and cross
product has important results. Here we describe the Gravity Equation. And we provide
the coordinates of the universal and what they mean.
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Introduction 0=117.02

In this paper, we provide calculations on Astrotheology from = Mass= 2.04 rads
Linear Algebra.! Einstein was wrong about no absolute space and time
and these calculations show how. Gravity, Mass, Density, and the zero x' [x=652=118

vectors are used in calculations that show that the universe can be

modelled as a tupple. We begin with gravity. n=4
Product X" =-/776
Gy=|D| ¢ Ve © x=1267
:4><3><\/§><7z' -
652 Z = p[cos Q+i sin (p]
0917i =1.5
Dot Product
1/ [xn ,fx } i=1.5
M= Et==|E|t|cos 0=0
Sum i=1.5x" [ x
My=|D| +c+e +Q Gl+1/1=2=dM | dt
=443+t 7 G=1/t+1/T
=118.72 Mass in the periodic table of the =1/1+1/251=1+1/(1/4)=5
elements. )
x°—x—1=5

Cross Product )
Roots 3, -2 = Eigenvalues.

s:E><t=|E||tsinc9 2
F=G[MIM2]/R

G, M=1
0 2(2)(1)/(12)
x"[x=1 4
n_2 -
x"x"/2=1 |D|
2n
x =2 =Ma p
Let n=4
= Max
x8=2 n
=Max"[x
x=1.0905=1/917
=Ma (1)

= csc 66.6°
= Ma
Dot Product /Cross Product = cos@ / sinf = cot 0 = p F
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The universal vector

Golden mean
x*—x—1=0
C:x+iy
(x+iy)” = (x+iy)-1=0
Reduces to the bilinear form
x*—y?=1
X = a”x’ + alzy’ y
=a2lx +a22y’
Rotation matrix
Let 0 =7
T=Q
lcos 6 —sin 0/sin 6 cos Of=[1 0 /-0 1]
[10/0/1] [ab]
[a+0b / 0a—b] = [a -b]
[xy]lall —a22==1
xall —a22y-1=0
all=x
a22=y
x*—y*-1=0
all = Ax
a22 =Cy
AX*+2Bxy+Cy*=D
(D) +2(=1)xy+1y°=0
x2=2xp+y*=0
(1N2) =2(82)a/(v2) + (182)" =0
1/2 =1+1/2=0
0=0
x2—2xy+y2=0
(x=»)(x-y) =0
x=y
a=v
P=F
Figure 1

396,0

412,142 462,14

462,396 396,396

Figure | The universal vector space.

Copyright:
©2018 Cusack 187

396,0

412,142
462,142
462,396
396,396
110,254
254,0

2492, 1330
[7.5]
Multiple be Operator Matrix
[cos 60°  —sin 60°, sin 60°, cos 60°]
(112 VB2, Bz 2]
D] =12 x 12 ~\3/2\3/2]
[174- 3/4]
=[-1/2]
Multiple by [7,s]
[—1/2* 251, 4/3° —1/2}
[-1/8, —2/3]
[Emin, Antigravity]
Subspace & the zero vector.
(1,0,0) =(z, E, s) is Perpendicular to
(0, -1,0) = (1, E,s)
This point lies on the y axis on the E-t golden mean parabola.
T=1/freq.=1/(l/r)=x
s = ‘E ‘t | sin 6
E=t=1
s =sin 0
6 = sin 60°
=\3/2
=0.866
(3,4,0) Perpendicular to (4,3,0) (-x,y,z) Perpendicular to (y,x,z)
—-t=F

L :\/(x2 +y2 427 ):L2 :\/(—x2 +? +22)
(—t, E,s) = (E, t,s)
(Likewise, for vectors in the III And IV Quadrant.

Multiple be Operator Matrix
[cos 60° —sin 60°, sin 60° cos 60°]
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The universal vector

(12 V32, 32 12]
D =[12 x 12 ~\B3/2 V3/2]
[1/4- 3/4]
Multiple by [7,s]
1/8 +1, 3/8+1
=E 41, SF. +1]

n

Period T=251
[2492/251, 1330/251]

[7.s]
[71', sin 7r]
[7. 0]
Subspace on te zero vector.
(1,0,0) =(1, E,s)
(0, -1,0) = (£, E,s)

is Perpendicular to

This point lies on the y axis on the E-t golden mean parabola.

T=1/freq.=1/(l/r)=x
s =|E|t|sin 0
E=t=1
s = sin 6
= sin 60°
=372
=0.866
(3,4,0) Perpendicular to (4,3,0)
(-x,y,z) Perpendicular to (y,x,z)

—t=FE
y=xE=t
z=z

Ll:\/(x2+y2+zz):LZ:\/(—x2+y2+zz)
(-t,Es)= (E, t.5)

(Likewise, for vectors in the III and IV Quadrant.

Because you can’t have negative K.E., there is no such thing
as negative time, so there is no orthogonal vector to the zero

vectors(Figure 2).

Figure 2 Orthogonal vectors.

4 N 5 ¥ 5
n 3
3 4
s = |E||t] sin 0

Copyright:

©2018 Cusack

Let s=z=0
sin @ =0
O=r
E=-t
E =
s=5=0

E=1/t

x+iy=0
E+txt=0
E=t*
-E=t"
t=~-1=i
E+txt=0
E+*=1
1+12=2=dM /dt
E+£2=0

1+(-1)=0
0=0 True!

188

Since time is K.E., and K.E is time, we measure K.E. relative to
something - the zero vector. We also know that Mass is the dot product

of E and t (Figure 3).

Figure 3 The zero vector.

M =|E||t] cos 6
M =(1)(1) cos 6
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The universal vector

0 =1rad
And we know that Momentum, P, or v = cos 6

So K.E. =1/2 My’
=1/2 (cos ) (cos 9)2
=(cos 9)3/2
=0.785
=1/1273
=1/p
p = Density

This disproves Einstein’s Relativity. There is a stationary point in
the universe. It is the Zero Vector. Space and time are absolute.?

So this is how the universe crystallized into existence.’
M =|E||] cos 0
But E=PE =dM/dt=2
M =(aM/dt)(1) cos 0
s = |E|t| sin®
s=(dM/dt)(1) sin 0
Density p =M / Vol.
=[dM dt cos 0]/ [dM/dt sin 0]
=cos 0 |/ sind
=cot 0
cot 7Z'/3=1/\/§ =0.5774=1.0076 rads= Mass H*
Equation of a plane
(r-a)‘n:O
(r-a)-(b—a)x(ca)=0
(ra)-n=0 - {r(0,00)}(150,0) =2
|E||f| cos 0 =0
a =(0,0,0) = Z position vector
(b—a) = (3,0,0)-(0,0,7) = (3,0,-7)
(C=a) =(3,0,0)—(-2,0,0) = (5,0,0)
n=(30-7) x (50,0)=(15,0,0) Mass Gap
=1/G=3/2
n=c/ (dM/dt)=3/2=1/G

(r—a)-n =0
[r 000 [{(3.0.0)]
=|r||0] cos &
=0
reR

[r(0.0.0)] - [(15.0.0)] =0

|r{[15| cos 6 =0
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r=0orcos =0
O=mx/2 37/2
r is orthogonal to n
s=|E|l{ sin 6
0= 0(0)(0)sin 6
O=xr;, £2x
E=0=t=0
M =|E||l| cos 6

v M= cosx=-1

M=-1
p=M/Vol. =—1(x)/19905 = -5.02 ~ —4x
19905 (—47) =y
x =250.1 = Period T
Cusack’s gravity equation

Gy=p ¢ \/;

5

GO :pcl.

__ MASS GAP
Gy=pc

=6.522
=4r ><3><\/§

0 0 0
0 0

Boo

S O O B
S O W

1
[4,3,@ ,—n} i

T
<

[|plevca] ;

M

Figure 4
Add two vectors
(433 -] + [111]

{54273 —4.14]

length =\/K(52)+(42))+(2.732)+(—4.142)}

=781.8=7/4=45°

=1/p
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The Norm
1/ p=Vol. | Mass = [dVol. /dt]/[dM /dt]

=19905/~/3/ 2
=57.46 =1 rad

M = )

For the universal vector

=4, 3,43, 7)
Area=1/Pi-1=0.308

But we know G=¢*
-infinity infinity =t

o~—4¥\\ 1 t

AN And,
\\?«
7
N Area=1  3.08-1=207

j\f Jd =120}
- infintiy |- S;I;I K3 sar3xhi A = Eigen value =3
Figure 4 Mass an the Ln function. 1 rad = 57.29°
Universal vector 3¢=3 (57.29°)
[4 33 —71'}:615 =3 = Eigen vector
[1 11 _1] =6 Characteristic Equation
For the angle of this universal vector x*—x—1=0
=a*+b*~2abcos 0 Let x = # = Operator
¢*=73869°=6+0.615"-2 (6)(0.615) cos O
7’ —7-1=57.29° = 1 rad
cos 6 =0.7393
6 =7387 =1/ 0.4233 Conclusion
=1/ cuz We see that the universe can be well modelled by linear algebra.
=1/ (7—e) Acknowledgements
So the Universal Vector produces G,; p, t=E=1 rad;;cuz (or None.

PTEC)(Figure 5). . .
)(Figure 5) Conflict of interest

1/ rho The author declares that there is no conflict of interest.
References
23.03 deg =0.402 =Reynolds' No.
T 1. Axler S. Linear Algebra Done Right. 3" ed. Springer, USA; 2015.
/
" 66.97 deg=116.98 rads=M 2. Shilov G. Linear Algebra. USA: Dover; 1971.

3. CusackP. Astrotheology, Cusack’s universe. J of Phys Math.2016;7(2):8.

t =5qrt Go

Figure 5 The universal vector and time.
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